TECHNICIAN GROUP II C

Time Allotted - 2 Hrs. Max Marks — 100 7791

AT - 2 Hrs. 3% - 100

: Instructions to the Candidates

3FHIGART & foT @Ader

1. Strictly follow the instructions given by Invigilator and those given on the
Question Booklet as well as OMR sheet.

e g few e e St SRRt o wrer-umy sftumereie W fiw e et s aedt &
RISEEN
2. Check the Question Booklet thoroughly: In case of any defect, wrong question

pdper, Misprint, Missing Question(s) or duplication of question (s)/Page(s) get
the booklet changed. No complaint shall be entertained after the exam.

1 R 1 STt qE A SHiwt: Foret st S, et W O, T BT, T W AT e ()98t {
61 et o AT o QRaenT i et o WRteT 3 sire foret oft fehmare e ferem et fema smem) S[

3:” Fill in the requisite details on the OMR Sheet.
STTHIR 1 T 3 faawor s

4. The Question paper consists of Total 100 nos. questions of 1 Mark each.
a. Question no. 1-75 is compulsory and common to all trades

b. Question no. 76-100 is trade specific to be answered by the respective
trade.

b;kﬁﬂqﬁgﬁ 100 37hi =T 21 Ik 91 1 37 &
%, T EEA1 75-1 8 $21 o forg st st am=r @
T, TF &7 100-76 TR {3 & 37k eiftra samaw g 3 o smom)

5. There shall be negative marking of 1/3rd mark for each wrong answer.

Yo TTeld ST o ToTq 1/3 3ieh sh AehRIcH 3k BT

6. In case of any ambiguity in translation, the English version will be treated as
final.

SrgeTe # fopelt sff STETEAT o AT H, ST Hehton st Sifim T Sem)
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Workshop Calculation & Science and Engineering Drawing
(Common to all Trades)

@ 1litre is equal to how many cubic centimeters?

A ; 10 cu.cm ‘B 100 cu.cm
\,V 1000 cu.cm D 10000 cu.cm

1 N e v TEfiex $ e arar

. 1099 QAT . 100 €17 QAT

€A, 1000 &= QAT 158 10000 €T QAT

2. The perimeter of a rectangle with length (I) and width (w) is:
A l+w B 2(l+w)
C (l+w)? D Iw

ST (1) 3R SIS (w) Tl 3T HTIRAT (perimeter) FATE?

SET-C

. l+w . 2(l+w)
. (l+w)? . Iw
3. Iflength and breadth of a rectangle are 15cm and 10cm, respectively, then its area is:
A 100 sg.cm B 150 sq.cm
C 115sq.cm D 200 sq.cm
e 3 1 oieTs 3R AisTS A 15 A 3R 10 AT § dF T S Tb T FAT8?
F. 100 TITHAT @ 150 G /AT
T 115 I AT . 200 T T
4. Which of the following is a method of heat transfer?
A Convection B Radiation
C Conduction b7 All of the mentioned
ARRaTA dsla @ s i@ Hrafa g
&. TdgdT (Convection) @.  fafeor (Radiation)
. HaATele (Conduction) . Sfear@aasir
@ CNG and LPG are the examples of
A Solid fuels - Liquid fuels
C  Gaseousfuels D They are not fuels
CNG 31 LPG f&rae 3qT8uT 82
% ogsHd G WaSue
I sy q ISuTANE
6. Force acts on an object may change
A Direction B Shape
C Speed B All of above
mﬁqmmaﬂwmmt
% fear LCAE |G|
o LH sk

TECH-II
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7. The product of 22 x 23 x 2*Is equal to: @
A 22 B 2°
P D 28
22 2° x 24 ST I[UTTeT e sRTa{ 67
&, 22 g. 25
T2 . 29
8. 5%/52is equal to:
A 56 B 5%
C 52 2" 52
54/52 foFaeh RIS §?
& 58 ECH 56
aT. 52 . 52
9. 100°+20°+5° s equal to
A 125 B 25
C 1/125 N A
100°+20°+5° fFHeh SRTER §?
. 125 . 25
a1, 1/125 Y. 3
10. What is the value of (2% + 32 + 42)%? ,
@A 9 B 0
W 1 D 14
(22 + 32 + 470 AT T §?
# 0 9 g 0 '\Oo
T, 1 12 14 : & \
' ' B
11. What are fundamental units? , d \07(0 ' /
A Length, Mass, Volume \j/ Length, Mass, Time AN @
C Length, Mass, Area D Length, Pressure, Volume \,\U\/
. . x
HoT{ ShISATHATE? A A
| ®  odTS, GodATd, T . T oS, GoaAd, 9 T
5 s s
| A S, geA, & g WS, gdg, 3ade
e 0
12. How many millimetres are there in 1 inch? \)\o"
A 254mm B 254mm b o
c 24.5mm D 2.45 mm 7
1 53 P AR R
&. 2.54 fAelr g . 25.4fA -
T 245 w245 /\FQN O
13. Calculate 25% of 776. v W \)(b
A 776 B 388 \9\ : \D< 2\ %)
E 197 < 1% A -
l @'
£
~
Y AN \oo‘iﬂ
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SET-C

776 & 25% Y I0TAT HL
$‘ 4 776 . E'. 388
L " 194
14. The square of 42 is:
\,A/\ 1764 B 1664
¢ 1564 D 1504
42 FT T (square) FATE
. 1764 T. 1664 ‘
dT. 1564 . 1504
15. Which of the following is a perfect square?
A 1057 LB 625
C 7928 D 64000
ToTH O AT qOT qaT 7
. 1057 . 625
CIR 7928 . 64000
16. Thesumof1+3+5+7+9+11+13+15+17 +19is:
A 121 B 120
&~ 100 D 110
1+3+5+7+9+11+13+15+17+19$r?fl?T3'?1T%?
. 121 . 120
CIR 100 Y. 110
17. Which of the following is not a square number?
A 4 B 9
o 24 D 100
ffaf@ad dFraraearagie?
&. 4 . 9
1. 24 . 100
18. Area of a triangle with base (B) and height ﬁH) is:
A BxH B~ %BxH
Cc 2BxH A D None of these
HTUR (B) 3R FT1S (H) arell F33[eT &7 &Tathel FTE?
h. BxH . % BxH
. 2BxH rE~ AT YRS G
19. Area of the square with side-length ‘a’ is:
A 2a B 4a
C a/2 A D~ a2
HSAT-oidTg ‘o’ aror goT T STThel FT 6 ?
. 2a . 4a
T, a/2 V . a2
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@i}g area of a parallelogram with length (1) and breadth (b) is:

b B 2b (\ O

C b D (Ib)*+
e (1) 3R ST (b) aTel FATCR T3St AT &TAhel FIT &7 f
® %l g 2 v
EIN Ib . (Ib)? XO

21. Area of a circle with radius r’ is: é 0&

\/K‘ nr? B Y nr? 1972 »

C 2nr? D 4nr? & \
v’ ST (radius) ATeY el ST STl T 672 0 ? (3
. nr? : . Vs Tr? . o O’ \V/
T e g 4ne N

22. 1 cmis equal to how many millimeters?

K- 10 B 100

C 1/10 D 1/100
1 9T e Ay F SR g2
F 10 . 100

Surface area of cube of edge ‘@’ is: |
A 4a? B 6a? &

C 3a? D a?
fFaIR 'a' aTet U7 7T Adg &F (Surface area) FT&?

T, 1/10 . 1/100 @ @(}

. 432 . 6a?
'J'I". 332 . a?

s
| % e
@Volume of a cuboid of length (l), width (w) and height (h) is:
A Ibh B Ib+bh+hl M ;
& 2(b+bh+h) D 2(1+b)h M

oIS (1), ST (w) R ST (h) &TeT FATE (cuboid) T 3R (Volume) T &2
#  Ibh @ Ib+bh+hl

T 2(b+bh+hl) | . 2(+b)h

25. Volume of a cylinder with base radius = r and height = h, is:
A 2wh W7 nreh

C 2nr (r+h) D 1/3 ir*h
3R ST = r 3R 3701 = h 1o §o7e7 (cylinder) &7 3T (Volume) FTE?
&, 2rrh . " ‘
. 2nr (r+h) , . 1/3 nirzh
26. 700600000 is equal to:
L0 axa0 B 7x107
C - 7x10° D 7x10°
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SET-C -

700006000 faEas SXTeR &7
<. 7 x 108 d. 7 %107
CIN 7 x 108 . 7 x 10°
27. Which of the devices use a battery?
A Torch B Transistor
c TV remote control \D—  Allof these
EleT T 30T FedT &7 IYANT &l &7
F TN g R
T dar A g el
é& The electric current has
A magnetic effect B heating effect
c chemical effect léB/ all of these
®. ISR YN g AN
. TS G . T
29. An electric bell has a/an
~AS electromagnet B hammer
C interrupter D all of these
Regaadr AT
. faegeT 99 (electromagnet) g. g2iisT (hammer)
. 3R (interrupter) . F ey
30. The rate of doing work is called ——————-
A Force B Acceleration
&~ Power D Displacement
FFA Frafa s FEa el
. el (Force) . ©dUT (Acceleration)
T, eI d (Power) ' . faTFUT9e (Displacement)
31. The drawing board size of BO indicates as per B.L.S., is mm.
AT 1000 x 1500 B 500 x 700
C 350 x 500 D 700 x 1000
BOFIGENISHFRBIS. FHJAR___ AersrsPasarg|
&, 1000 x 1500 . 500 x 700
qaI. . 350 x 500 Y. 700 x 1000
32. The stock and the blade of the T-square are joined at to each other.
A 45° B 30°
C 60° ~—" 90°
A FaRR FEF IS TH T A WIFFUIT &I
& 45 g 30

T, 60° . 90°
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33. French curves are most importantly used to draw

A Long lines B Triangles
" Curves D Circles
SFeI GhT (French curve) FIATYIGHAITAT __ &eATel & foIT fohr ST gl
F  der@u T By
. dgh (Curves) ' . gcd
34. After folding the sheet what is visible on the top?
A Drawing B Dimensions
Title box D Alterations
ofie Alsa & a1 SR 47 @S &ard?
F. CIEL . AIH
T AfEaEE " 9Radd
35. The size of the title block is mm X mm.
A 25x 10 B 100 x 25
¢ 60 x 185 P’  185x65
e ST 7 3R AT x AT g
. 25x10 . 100 x 25
aT. 60 x 185 . 185 x 65
36. The products of combustion are
A Carbon dioxide and water B Oxygen and water
C Only carbon dioxide \./ Only oxygen
GEel & 3cUIG FATR?
F. FIE SSIFAES I I . e AR
A hdd HIed SSIHFAES g Fad e
37. if we multiply 5x and (- 4xyz), then we get:
A 20x%yz B -20x%yz
C x2yz D -2xyz
A & 5x AR (- 4xyz) T IO Tt § A IROTH =47 G
. 20x%yz . -20x%yz
ad/. Xyz . -2xyz
38. The product of 4x and O is:
A 4x B 4
\,Q’ 0 D 40x
4x 3R 0 T IO FATE?
. 4x . 4
. 0 . . 40x
39. The area of a rectangle whose length and breadth are 3y and 9y? respectively is:
A 12y? B 21y3
iy o ¢
TECH-Il - Page 8 of 44
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SET-C
S 3y 1 8 3 e ach e T |
& 12y g. 21y3
- 9T 27y3 . T
40. (a-b) 2is equal to:

y3

A a’+b-2ab B a’+b’+2ab
C a%+ b2 D 2ab
(a-b) * fFah s
. a2+b?-2ab g. a?+b%+2ab
aT. a’+b? . 2ab
41. 1-cos?Ais equal to:
A sin’A B tan?A
c 1-sin’A D sec’A
1 - cos?A fFgS e 2
. sin’A : 4. tan?A
. 1-sin’A . sec’A
42. The pressure which is exerted by air around us is known as
A force LB~  atmospheric pressure
C muscular force D friction
EAR IRT ARG §aT SaRT TeIAT AT GaTd AT gl 67
® & d g ggHsHIEEed
CIAE - P2 KDk 12 §
43, The ratio of height to length of an arrow in dimensioningis ___
A 1:2 B 1:4
L 13 D 1:1.5
3T fAEROT (dimensioning) 3 WY T 5a1$ 3R ofeTS &I 3aTd __§
. 1:2 . 1:4
1. 1:3 Y. 1:15
44. Length of scale = RF x Rs, =
A actual length B reduced length
C half the length D double the length
Thel oIETS = RF X
&  ddRe oS g FHAES ;
. el Sers 1 A-AC K
45, Diagonal scales are used to represent ___ units.
A Four B~ Three
C Two D One
__ zrsar el & fore faeoT ST (Diagonal scales) T 39T T ST & |
F  dAR @ aF
| S : 1A -
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SET-C
Which types of line is used to draw dimension lines? ' /
A Long chain thin B Long.chain th"':k
C Continuous thick o Continuous thin
SYTRITH YT 5T Y 3 FoT R aiE 3B Y T ST T ST 67
. g el 4Tl W G ol et
T, CIGICEIA . TMAR gohl
47. Two recommended systems of placing the dimensions are '
JA Unidirectional and aligned B Upright & inclined systems
c Linear and oblique systems D Linear and inclined systems
T SO ey o1 &Y JHRITRe JoTTiera & &
F. Uhd fGulcA® AR W@ @ e o g g onfea
T e 3R oRsy yonferar w3 3R g gs vomfet
48. Dimension line should not to each other
A Parallel Cross
C Perpendicular c Inclined
HATH [T THGELH ERANGIR Y
#. HAWR : @ facde Hte arelr
A F¥ad A SIS
In ligned system of dimensioning, the dimensions may be read from
\/(a Bottom or right-hand edges B Bottom or left-hand edges
C Only from bottom D Only from left side
3T fAURoT S ST woTrelt #, T} Y FET TG AT HehlT &7
#. AT TGS NG F PR . AT ATEE RE & haAr &
AT FadAIY U FAaddE " }X v 1 @
50. Aline of 1 meter is shown by 1cm on a scale. Its Representative fraction (RF) is K i o b it
A 1 B 100 @
£ 1/100 d 1/1000 !
fordl Tohet IX 1 #Hiex T@r 1 1 el A =TT ST § | ST Wi 3721 (RF) FATE
. 1 . 100
aT. 1/100 . 1/1000
51. Which of thgfollowing is reducing scale?
—@D/' B 10:2 vk
1:0.5 D 2:1
ﬁmﬁﬁaﬁﬁﬁammgm (reducing) TheT &2
% 051 ) g 102
. 1:0.5 aT. 2:1
52. The areas of the two subsequent size.s of drawing sheet are in the ratio
A 1:5 : "B 1:4
C 1:3 \/D/’ 1:2
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X
SET-C
STE9T 2Ne & &) 3T ATHRY T AT & AT A&
5. 1:5 g 14
aT. 1:3 BT 12
Which of the following drawing tool is used to transfer dimensions when there is a repetition
of the dimensions?
.y Compassm B Protractor
Divider @sT1eH) D MiniDrafter
mﬁﬁgwﬁﬁwmﬁ%mﬁ%mmﬁﬁmwﬁﬂ
YT TR SATAT §? ,
O TS £ g e
T Bass . el goex
54. In which of the following type of dimensioning, the dimensions are arranged only in a straight
line?
A Parallel dimension <&~ Chain Dimension
C Combined dimension D Aligned dimension
TR & ¥ T o & 3RTA &, 3T Shael T A1e 3@ A caafeud gia o2
F. WA A . A AR "
T EYFdIAH " W 3w
§o57¢ @How is a blind drilled hole of 15mm diameter and 15mm deep dimensioned?
! A M15, DEEP 15 B $15
427 $15,DEEP 15 d $15x 15
15 T = 3R 15 T 7810 aTel oSS 3o [hu ae S & A FA g 6 2
. M15, DEEP 15 . $15
Vtr./’ $15, DEEP 15 <H.  ¢15x15
56. The lettering in which the direction of alphabetsis at ___is called Italic lettering.
A 90° < 75
C 60° D 300
o IGeT-f3HaT (lettering) FH auif T ERm___ REIT &, 34 s¢fore arga-ufrar sea £1 =
® 0 90° S 75 _ & -
. 60° T 30° 3’
57. Orthographic projection represents three dimensional objects in gg:,
&~ twodimension B one dimension
C three dimension D all of the above
clell-fawae (Orthographic) 0T -3maef axgait oy Fear )
% SIIEH . TSI
A A HIH . gy
58. With the combination of set-square; the following angles can be drawn except
A 15° wB=" 25°

C 45° D 105°
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0
v\aj .
3
/b SET-C
5 ,
K 3 | .
_,‘7\ FAT-TFARK (set-square) F TAISIT §, 38 el Aefar@d 10T FATC ST g
v . 15° g. 25°
EIR 45° ‘ . 105°
59. The designation of sheet of size 594 x 841 is
A A3 B A2
g Y
594 x 841 TR T 2T T FAT AT &7
Co F A3 g A2
( \] NO //6 ;T Al . AO
NN (R 60. Which of the following is softest pencil?
< 2B B 1B
C H D HB
AR & ¥ wiq o ae@ garas SR g
~ . 2B . 1B
N
\/\/ CIR H . HB
$i=/f’ih 61. The angle which we can’t make using both the Set-squares is
- A 15° B 105°
d 165° D 125°
&H Clsil YT T 3TANIT FXh ol T 10T 78T 7T Gha &7
. 15° . 105°
1. 165° 1. 125°
62. is used to draw curves which are not circular.
A Compass B Protractor
i 4 French curves D circle
Q T IYANT IR-FecATehR G5 3T HLT & foT fRar sirar g
o F A S @ e
~ .
CIAN ok . el
63. A right regular hexagonal prism in resting on HP on its base, its top view is a
Hexagon B Rectangle
C Square D Pentagon
39 3R TR HP W ek &V 31T Yo s &7 oS T T i
F. NSl (Hexagon) . Aad
@ . EEll . ‘:{?ﬁj’GT (Pentagon)
64. Hatching lines are drawn at an angle of
A 15° B 30°

/ 45° D 60°
g Y@ FRTR AT HreEr )

@ a;. 15° @'- 300

. 45° . 60°
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SET-C

65. ______isgenerally used to show areas of sections.
A Hatching B Shading
C Dimensioning D None of these
T STAT I AR IR Gt 7 e gelfey & fore fRrar S|l
F R g  AfsT
A SR , g AR A& AR
66. While representing the diameter in dimensioning it is represented as
A D B @
C Dia D d
3T (dimensioning) & caRT &ITA TFT 58 ST A R@TSIATE
. D . 0]
. Dia . d
67. In engineering drawing, which type of arrowhead is used?
A Open (90) B Small open circle
Closed and filled D Oblique stroke
SNTaReT 3o 3 R oRE & WIS o1 3TN foraT SITelm &2
& gar(eo) g okrgdrged
A S AR ' u. a3 (Oblique) T
68. What is the inclination of the leader in a drawing?
A Vertical B Horizontal
C Less than 30 N Greater than 30
el grSaT 3 e T 3TehTa R R BletT 62
®.  dead g  afasr
T, 30 AFA . 30 & AfUs

69. While dimensioning a cylinder in the view where the true shape of the cylinder is not visible,
which symbol is used to denote that it is a cylinder?
B R . B9
C (€] D o
RISt &F ATH ST AT ST6T RAeis] FHI aRA1Ae IHR TRIATT a1 81T &, T6T Ig

AT & ToIT o g ve Reist &, o udies ST 3uter i sirar g2

. o g. ¢
aT. €] aT. o}
70. The angle between the isometricaxesis ___ . %
A 180 degrees B 60 degrees
C 90 degrees b 120 degrees
FHAD (isometric) @A FAT____ FIHIOTHI
F. 180Tl g eofsal
T, 90 f3fr - 120 f33ir
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SET-C
71. In 1st angle projection the plan is always the front view.
o ¢ Below B above
C Side tD any where
WUH 0T TEIGOT 3 CATH G TIHA F T & grar gl
&. Clp) g I
T N ¥ el ®,
72. Name the figure which is bounded by two radii and an arc of the circle of the circle.
A Segment B Chord Q
L Sector D Diameter
g ey st 3k wra & ol g 3epfey 7 A S| @
F. @3 (Segment) @.  °19®H0T (Chord)
4. HaeX (Sector) . 1A (Diameter)

73. Which of the convention in Fig.is used to represent wood?

0 (
7 (@

\

A /’//2//,//.-

c D

o 3 wrers i =it & Fore o Tfiher #11e1h (convention) ahT Saitar R ST &2

WY

N

N
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74. Which of the following symbol is used for antenna.

Anode N Cathode
1
A l B

C D

ERRTd Y vl S v g gdie &1 3997 R Srarg |

Anode [N\  Cathode

1

ST
RICHE

75. Which of the following scales represent two different units having same representative

fraction?
A Plainscale B Diagonal scale
C Comparative scale D Vernier scale
AR & ¥ Fi a1 Erel GA T AT 3727 aTely & 37eTeT-37019T SHISAT o gATaT &2
. Tl Tohed (Plain scale) . Ao =her (Diagonal scale)
aT. Wm’ (Comparative scale) . aflR Ther (Vernier scale)

Trade : Electronics  Foaelfaayd

76. When 5, 10, and 15 resistors are connected in series with a 12V voltage source, what is the value
voltage across resistor 5?
a) 12v
b) 21V
c) 15V
d) 2v
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SET-C

Si€ 5, lOmlsqﬁ‘ﬂﬁﬁ(resistorS)aﬂ'ﬂV mmﬁmq@mﬁmmm%a’r

RIS 5 UR AetsT &7 Al FATBIT 67
F) 12V
Q) 21v
M) 15V
) 2v
77.  Which of the following statements is correct?
a) Kirchhoff's law states that the current traveling towards a junction equals thg vol'tage drop.
b) The current flowing towards a junction is equal to the resistance across the junction,
according to Kirchhoff’s law.
¢) The current flowing into a junction is equal to the current exiting the junction, according to
Kirchhoff's law.
d) Kirchhoff's law states that the current traveling towards a junction is equal to the sum of all
currents in the circuit.

PeRasu=i A A ST aTTde?
%) e Rge (Kirchhoff’s Iaw)W%%WHﬁWWWﬂWﬁW%
REREIATg| '
@) FFEr® fT# (Kirchhoff's law) 3 3TeTHIR, STaRTeT &l W SATel ATell e GR STerIed &
GTaRI% (resistance) & SRS EIATE |
1) TRET T (Kirchhoff's law) 3 3181, STeRIT 3 SATeY ATell YT STaRIeT I STER folehelel
T FE F WS ETE |

u) fHEi® T (Kirchhoff's law) SATAT & T SieRereT &1 G SITeY aTelT e IR (circuit) &
T HIC F AT o RIS EIaT &
78.  Select the correct form of Ohm’s Law:
a) Vi
b) V=IR
c) I=VR
d) BothAandB
3 [ATH &1 T8 T AT
F) Vi
g) V=R
) 1=VR
") FIARGaEA
79. Which topology requires a multipoint connection?
a) Ring
b) Bus
c) Star
d) Mesh

mm%mﬂ?&qﬁtmmﬁmmﬁp
&) 3 (Ring)

@) 99 (Bus)

a7) dRT (Star)

H) SIel (Mesh)
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SET-C
80. _Which connection is necessary for a computer to join the internet?
a) internet society

b) internet service provider
c) different computer
d) internet architecture board

Wﬁéﬂﬁtﬁaﬁsﬁ?ﬁvﬁamﬁmmm&w%‘?
F) T AT
") SeToie AT werar
) 3T FTGR
") ST AheFaR a1
81. The most commonly used semiconductor is ...........
a) Germanium
b) Silicon
c) Carbon
d) Sulphur

T 31181 STNT 3T STy aTelT 37ETeTereh (semiconductor) Fhis AT &E?
®) STAAIH
) fafasie
A) FEA
H) e
82. An n-type semiconductor is .........
a) Positively charged
b) Negatively charged
c) Electrically neutral
d) None of the above

n-YehR 31T (semiconductor) FATE?
F) UAlcHS &9 TToT fohdT a1T
W) FKOTcHS &9 § 9o T I
M) g IITTH
) I9Ed A A RS e
83. The function of a sensor is to .
a) A Detect events within specified environment
b) B Separate physical parameters

c) CTrack and transfer data to computer processor
d) DBothaandc

TR T FATTHF 82
%) fAfdse aRaer 3 iR BeaTs T el Tl
@) 3T i WA
M) SR AR H 3T e R R FAr
u) H3ReTaE
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SET-C

84 is the process of the solder molecule combining with the molecule of the metals

being soldered

a) Wetting

b) Desoldering

c) Tinning

d) Soldering . - .
TR ST ST aTelt ET3HT (metals being soldered) 3 3107 T ETT (solder) 317 CIEC
Tishar T §7?

%) afder

Q) S\esRaT

M) fefser

") SAlesRar
85.  Which of the following is not an electronic device?

a) A mobile

b) A computer

c) A magnifying glass
d) A keyboard

R=faaa & & war soecioe sumoT AT &2
F) Az
W) FHR
)  3MTYF (magnifying) o
) dEs

86.  Which junction is forward biased when transistor is used as an amplifier?
a) Emitter-Base
b) Emitter-Collector
c) Collector-Base
d) No junction is forward biased

mgﬁwwmﬁw*mﬁwﬁwﬁmm%ﬁaﬁam@mﬁmﬁm@mh
%) TieTaw
) TiAT-Feae
) Folae-ad
") IS o S BRAS SIS A Aar
87. Alow input to the transistor gives
a) Low output
b) High Output
c) Normal Output
d) No Output

CIfAFeT P HH SAC A [GECIE
F) FHABEYC
) 3T AT
M) HHAT 33T
") @IS 33eYC Al

TECH-l  Page 18 of 44




SET-C

88. The analog signal is digitized using
a) D/A converter
b) Oscillator
c) A/D converter
d) Rectifier

TACT T 7 3o e RTSeelise e S @
F) D/ATFeaeT
@) 3ifAeex
) A/DFeaT
o) IFCHERR

89.  Which of the following should a microcontroller at-least should consist of?
a) CPU, ROM, /O ports, and timers
b) RAM, ROM, I/O ports, and timers
c) CPU, RAM, I/O ports, and timers
d) CPU, RAM, ROM, I/O ports, and timers

AERIEEIoR & AT ad & & S J a7 MTA glell TIeT?
&) CPU,ROM, I/0 UIeH R e
@) RAM, ROM, I/0 9IEH AR e8eR
M)  CPU, RAM, I/0 9TcH 3R es# R’
o) CPU, RAM, ROM, I/0 GIEH AT e3AT
90. Q20.An induction motor works with
a) DConly
b) ACOnly

c) BothAC&DC
d) None of these

Sl HieX [haeh AT HIH FA o7
&) shad DC
@) FHad AC
aT) ACTd DC T
") S A FIS 6!

91. The frame of an induction motor is made of
a) Aluminum
b) Silicon steel
c) Closed grained cast iron
d) Stainless steel

SErered AT T hA T FeTcll 67
&) TogAlaaH
) R
M) §E geaR (Closed grained)ﬂw_anmgT
") T el
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92. Ifall the stator coils of an induction motor are connected for the same magnetic polarity, there

will be formed an equal number of
a) Rotor poles with same polarity
b) Rotor poles with opposite polarity
¢) Consequent pole with opposite polarity

d) Consequent poles with same polarity _ .
% e e BT Rt FHed T TR ARE & T s 8 ol S HAw A

HE__ e
%) AT NARE arel Ae diel
@) Auda AR arer de 9t
1) Roda NAREr arer aRkomar dier
") GA WoREr arer aRomAT drer

93.  Which type of LED TV is shown in the below figure?

...l...‘..“...‘...".:

a) RGB dynamic
b) CCFL
c) Full Array
d) Edge-lit
A few e O & fohg v 1 verssT St le@mar s g
%) RGBSRIATHS
@) CCFL
1) %ol W (Full Array)
") Tel-foic (Edge-lit)
94. The storage battery generally used in electric power station is
a) Nickel-cadmium battery
b) Zinc carbon battery

c) Lead-acid battery
d) None of the above

Solferge ITaR T & 3TACR R I T FERT el 37ty 1 oy
. %) PAda-HsfAga el

) o Hree sed

1) Js-Tfsded

) STAFEI A A RS TG
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95.  Battery charging equipment is generally installed

a) In well ventilated location
b) In clean and dry place

c) Asnear as practical to the battery being charged
d) Inlocation having all above features

ST ATTHIT IYSHVT HTH AR 9T gl SETel T AT 672
&) FHRIT gaER VI R
T) A6 AR G 98 R
77) TATEEIRE T & TTer &1 i W dedy & e aHa &
) 3R | glamsi are T ™

96. Which of the following is correct about photo diode electronic devices?
a) P-N junction is connected in reverse bias.

b) Electron-hole pairs are generated by impurity injection in depletion layer
c) It is a photovoltaic cell

d) No external voltage is applied
et SRS SoFR e 3T & AR F P Taad # A FEE
&) P-N FiEere Rad o198 H FAaes g
@) ST oS &7 (depletion) TXeT 3 3G 3 § SeT~T €T ©
37) g BreIdlicch Al o
) P agdl aleest SEATH 61 ST oIl &

97. Which of the following is wrong about solar cell electronic devices?

a) Solar cell responsively is directly proportional to the wavelength of light
b) It produces dark current

c) It is a photovoltaic cell
d) No external voltage is applied

mmﬁaﬁﬁmmwﬁiaﬁﬁﬁmﬁﬁaﬁﬁmmww%?
&) PRI T EGEd (wavelength) Foor W ER AT AR Trareferar aedr &
W) G 5T HE 3o~ BIelT ©
77) Tg B ecH A §
) AT dieder SR AR A

SET-C

98. Which of the following type of transistor is preferred in digital and analog electronic circuits?

a) BIT

b) JFET

c) MOSFET
d) FET

mmmw@mmﬁ(carcuats)ﬁmﬁmmmwaﬁwm

ERIICIEE
&) T (BIT)
q) SATEHSET (JFET)
7T) THSNTHTERSET (MOSFET)
o) THSE (FET)
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99.  Which of the following is true about Zener diode?
a) It is lightly doped
b) It is mostly used in voltage regulator electronic circuits
¢) It is used in forward bias
d) It has avalanche breakdown

SR (Zener) SRS & R A AT A A R AT HUFT TE1 82
) SUgeHI Y AT ATATE
W) TR ST HOFR Aleeat Lo gelaei o IRUT (circuits) 7 fam ST &
) SR HRES T F 3TAT AT ST
¥) $HA AT HSe (avalanche breakdown) giaT &
100. Underground cables are laid at sufficient depth
a) To minimize the effect of shocks and vibrations due to gassing vehicles, etc.
b) To avoid being unearthed easily due to removal of soil

c) To minimize temperature stresses
d) Forall of the above reasons

SR Fael TATC RIS W FT HoTs ST £
) IO dTel ATgAT 31T 3 FROT Ty ATl STeehl AR AT 7 T F97 XY 5 T
) AL st I A & 916 3 & 9T F o
M) ATYAT IS (stresses) FH FeT & QT
") IR iy HRoT

Trade: Electrical ﬁﬁ:g?ﬁ'ﬂ'

76. Bayonet cap lamp holders cannot be used for lamps having wattage rating more than
A) 60 watts

B) 100 watts
C) 200 watts
D) 300 watts

; AT HT T TR 7T 39N ... @rmaﬁmiﬁwaﬁaﬁ%ﬁvaﬁﬁmmm%‘l
| %) 60dTC
|
j

@) 100aE
M) 200dTC
) 300dTC

77. How many light points are allowed in one circuit?
A) 10 points
B) 15 points
C) 20 points
D) any number
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T e A R s gt s 7
F) 103F
Q) 153w
A 203F
b) F1S sfraear

78.  The results of sectionalized insulation tests carried out on a completed installation are 100
mega ohms, 50 mega ohms, 1 mega ohm and 0.2 mega ohm respectively. An overall test in

the installation, megger reading would indicate.......
A) over 100 mega ohms
B) between 50 and 100 mega ohms
C) between 1 mega ohm and 50 mega ohms
D) less than 0.2 mega ohm

o7 FUTIAT O FoRT 97T 3g811afier egoreret TYEToTt & QRO FHaer: 100 FIM 33, 50 HIN 314, 1
A A R 0.2 AIM NF §| STTU 7 Tk G G877, IR QST gRa iam .......

F) 100 HIT A F AWF

@) 503iR 100 AW AT F&T

M) 1 AIM A AR 50 A A S AT

) 0.2FAMAHAAFH

79. While conducting insulation test, best results are obtained in the test is carried out for......
A) at least 1 minute
B) at least 10 minutes
C) sufficient time till the metre indicator becomes steady
D) sufficient time till more than one mega ohm reading is obtained

SR TIETUT ey T, TRIETOT 3 afect# TROTH e 81l o...
F) FAYHALAC
W) HHYHA 10 Aee
a1 HieX g U g o it §HT
u) U 310 A 3N QT red @ 7 T JH
80. While reversing the direction of rotation of a compound motor, if only the shunt field winding

terminals are changed, then......
A) the direction of rotation will not change
B) the direction of rotation will change without changing the characteristics of motor

C) the direction of rotation will change as well as the characteristics will change
D) the motor will burn out
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mmma%mﬁmnﬁmm,aﬁmeﬁmmﬁwzﬁmﬁﬁmm

&) Ui Y e e seeeh
W) AT RATATH! H wee AT Qe e ager swea
M) ute i R Feet STee AR A & R oft seer e

) HIX S e
81. In the circuit shown in figure, R2 to become open circuited, then the voltmeter reading will
_be .....
Ry=3 Q Ry=5 Q . Rg=2@

60V

Q —=
A) reads 30 volts
B) reads zero volt
C) reads 60 volts
D) reads 45 volts

o 3 Rgrw are wfhe , R2 el @i a1 11 8, A dteesiel Hr qfser ghe...
%) 30dlec el '
@) Y dleT TGATs
) 60 dle< Yo g
H) 45dteT ToeTE

82. What will happen to the indicatrionpf_ the yoltmeter i‘n the‘ﬁgure, when the switch is closed?

o=

A) voltage indication increases
B) voltage indication decreases
C) voltage gets to zero

D) voltage indication stays
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R 52 819 X ot o tweatie v g
&) dlees Hoha SaTy
Q) NS Hobhel Fa7 8 ST
M AR I R ST
H) dleesT Hohd Eard

83. When the tube lamp is switched 'ON' there is some vibrating sound from the choke this is due
to the loose....
A) connection in the choke
B) winding turns
C) core
D) screws in the cover

ST TS ol T Y 3T AT ST § A <1 W G0 0T Y HTaTST 3T §, TE Sreied & HROTEIAT &...
F) I H Folarld
) YATEER Hg
M) ®R
°) SR AT
84. A contactor coil is design for 220 volt DC. What happens if it is connected to 220 volts AC?

A) too much a current is drawn by the coil and will be destroyed
B) too small a current is drawn by the coil and the operation of the contactor is no longer certain

C) it draws the small current
D) it works better

UF Fdaey Fisd 220 AT T F fow Boms fhar g1 afe 3@ 220 dlee TA A ST AT AT
FATEIM?

&) wm@mm@mmmagmﬁm

@) Wm@ﬁwmm%sﬁwmwmm%ﬁmaﬁ%

1) IE O YR T E

u) I JgR PIAPA S
85. When testing a capacitor with an Ohmmeter, the meter indicates some resistance. The

capacitor under test is......
A) leaky
B) open
C) good

D) short
mmr#m#amwmmw,m@mwmm%l BT0T & T

%) TG
- ) g
) 37T
E) o
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86. If an operator pushes the start button of the three phase induction motor starter and the
motor starts to hum, but do not run, the probable trouble is
A) one fuse is blown and the motor is single phasing
B) the overload trip needs resetting
C) the auxiliary contact is shorted
D) one phase is grounded

AR FYE T et TR ST AT T & FLIE T H Eallell ¢ AR AT ASTEE Y& AT
&, A Torch AT ¥, A Honfad MRAEAE.....

F) T w35 I § AR A Rere $RTE

@) - 3iteaRes Ra i dRie F3 B LR g

) WEIH TIF BT 3l T8

H) THWOTABS B

87. Two of the power supply terminals to a 3 phase induction motor got interchanged during
reconnection after maintenance of the motor. When put back into service the motor will
A) fail to rotate in any direction

B) rotate in the same direction as it was prior to maintenance
C) rotate in the reverse direction to that prior to maintenance
D) interchanged line fuse may blow out

e &5 TERETE & 916 GoT: FolerIeT o G 3 TROT S5t HIER o & faitent el efdeter 3mae
F el T| ST A I AT9H Jal H A= ST

&) o off o et A AT e &
) 3 R & gATT oIl [EREmE | geer AT
M) TEEE W TEo 3T A feRm & gaAre

) $eTAS g TS 38 HHheT &
88.

......

After connecting the wattmeter through CT and PT, the circuit is switched ON. There was no

reading in wattmeter after the circuit was switched ON but within few minutes the CT has
become hot, the probable reason is ....

A) secondary CT is shorted

B) secondary of PT is open circuited

C) current coil of wattmeter open circuited
D) current coil of wattmeter is shorted

aﬁﬁaﬁasﬂrw%m@rsﬂgﬁ%aﬁmaﬁmmﬁmma Tihe T BN &

T TeHeX 3 g AT AT o Sifehet e &) Firetet 3F dy a Q o1E, ERA FROT TR .
F) AFAAE ST |

@) P FI AR T Gfhes §
M) ATCHIE & FE Pisel Goll TRUTAT BT §
: ) STeHIE T FE PG ST ATAT &
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When the applied voltage is removed, the lamp will not start until the Mercury vapour

pressure falls to a lower level. It requires for restarting.....
A) 2 to 4 minutes

B) 4 to 8 minutes
C) 8 to 10 minutes
D) 1 to 2 minutes

ST A ATeC ST BeT T ST &, St of e ek e o781 81911 Taf o fof IR aTS T ol feverer
FR T ol [ SITAT| Y GoT: TS e o FIT ST g,

&) 2¥4 AT

) 498 AaT

M 8J10fAaE

H) 192@ece

90. If the slot angle is 30 degree (electrical degrees), the main winding is started in slot 1 then the
starting winding should start in......
A) the same slot
B) slot number 2
C) slot number 3
- D) slot number 4

I Teife T 30 330 (Soifareanel 3aM) &, A A arsTean &l Teile 1 3 & foham 1A g, A QLeairely

89.

g) TACHN A
91. After connecting the cable to the terminal block it was found the terminal is not getting supply
through the other end of the cable has supply. Likely cause for this is......
A) too much insulation at cable termination is removed
B) to less insulation at the cable termination is removed
C) the element wires of the cable stick out
D) there are too many cables in one terminal

ST Y T selfh & S+ 3§16 I8 T I1AT o et & q@X ©R & eféerel &1 3mqfef =1eT A

%) o] FHITCA I S 31T FrgoIRIe §eT el el &
@) e EAIC T HA ST 5T AT S &

aT) el ¥ dcd R TR TS T ©

u) U e & 3 A A ©
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92. Aresistor marked by a colour band has....

1stband | 2nd band | 3rd band | 4thband
Brown Red Red Gold

On measurement of its resistance, it is found to be within its resistance range. Which is the correct
reading?

A) 122 ohms

B) 1200 k ohms

C) 1300 ohms

D) 1150 ohms

Tstband | 2nd band | 3rd band | 4th band
Brown Red “Red || God

mmﬂﬁmﬁwu@mmmmmrwm%l FE AT HIATTE?
122 A

1200 & 1A

1300 31 H

1150 3iH

93. To measure the electrical signals by an Oscilloscope, which alternative is the correct sequence
after adjusting the focus of the trace and connecting the signal to be measured to the y- input
Y on have to......

A) calculate the magnitude of the signal read the magnitude adjust the time base switch

B) adjust the time base switch calculate the magnitude of the signal read the magnitude

C) adjust the time base switch read the magnitude calculate the magnitude of the signal

D) calculate the magnitude of the signal adjust the time base switch read the magnitude
TG gaRT e Fehall o1 A9 & fa, T & Pihd Y AT e 3R AT ST ared
TRt Y y-5AYE Y W S5t & MG Hied AT [Ahed HEIHHG.....
%) TR9eTer 3 IRATT A1 VAT HY, TRATOT I, T MR e bl FATAAT Y
@) THT 3R " H GARNTST Y, [7eter S aIRATOT 1 7071 FY, IRAOTIE
) I AR aT T FARNS Y, TRATT UG, FATeTel & TRATOT Y I0TAT Y

o) fRIeTel & IRATOT I VAT Y, HAT FAAN S Y, YR e IRATOT H 96

a4443

TECH-II  Page 28 of 44




SET-C

94. To obtain a 12 V stabilized supply from the circuit shown in the figure the input voltage to
terminals 'A’ and 'B' should be....

1300
s TN —0
R
INPUT z Z{S OUTPUT
Bo, e

A) less than 12 V with terminal 1 'A' positive with respect to 'B'
B) greater than 12 V with 'B' positive with respect to 'A'

C) less than 12 V with 'A' negative with respect to 'B'

D) greater than 12 V with 'A' positive with respect to 'B'

o 3 e 1w e & 12 3 ReR 3mgfel wreat vy & fore efffarer o 3R & fae gqe
&) ' FEEY F AT 1 'T HRIHS & AT 12 A E FA
@) ‘T HHaUH & GHRIHAS & 9 12 91 § 3w
M) A FHETH T ARRICHS & AT 12 Y HA
g) @ FEGUH T THERICHAS & A 12 A G A

95. Select the circuit in figure which the transistor is being used as a switch....

BT 7 37 GiFe 57 90T Y Forae giforee &1 Fead & &9 H 39T [T ST @8-

(Al

MO 1000 100

'l—

iov —-'-1

y
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96. In an incandescent lighting circuit, the total current generally.....

A) legs the voltage by 90 degree

B) leads the voltage by 45 degree

C) is in phase with the total voltage
D) legs the total voltage by 90 degree

wmmrqﬁwﬁ,wwmaﬁw ......
F) oo B 90 el R FH AT
@) AT 45 Bl A ATy
) fﬂa\mﬂcmwﬁ%
) ga—ora’tmaﬁso%maa:wm%

97. The scale found in the moving iron voltmeter normally will......
A) have a uniform graduated scale
B) to be crowded at the beginning
C) to be crowded at the end
D) to be crowded at the centre

mﬁy@?#mﬁaﬁwmmmmz ...... grem|
F) T GHTA TATAS GHAA ©
W) AT A 35 gl
M) IAH MR
) Frw g
98. If a motor operates satisfactorily at the no load but loses power and speed at full load the
reason may be.......
_ A) there is a dead short circuit
B) there is an open circuit
C) the voltage is too high
4 D) there is a partial short circuit
; IR I A AT oS F HellToteren ST Y Tereh § Afehet o7 olYs IR ey SR iy @ e g elr
; F) THHAAYQ Hihe
[ W) THGAERCE
%) dieeS Sga AHH T
") FREACHFTE
99. The ceiling fan is rotating at low speed and becomes hot. Pick up the item which is not a
cause....
A) capacitor shorted
B) connections of the supply lead interchanged

C) winding earthed or partially shorted
D) worn out bearings and bent blade
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T T NS I 3 7 a1 3 g o | v v o3 A O AT K.
®) HUIRT SNeray a=r
@) S TS 35 et 31 e e T
N YATIER AT 3R 77 F Bler
o) REgTRETaRg grss

100. The reading of the figure, given below is

A)12.71
B) 12.19
C) 12.69
D)13.21

e &Y 918 Iy T AT ... B

F) 12.71
@) 12.19
/M 12.69
T) 13.21

Trade : Fitter fhex

76. Which Vice is used for holding hollow cylindrical jobs?

A Pin vice B~ Pipevice
C Hand vice D Bench vice
FrEe (hollow) SEATHR HIH Thg= & ToTT TRy RIshsr (vice) &1 3iter frar Srar &2
F T RS (Pin vice) T qrsq RIS (Pipe vice)
T £ R (Hand vice) ) o RISST (Bench vice)
77. What is the colour painted on the acetylene gas cylinders?
A Black B Green
C Blue +D—" Maroon
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e e RRvereR R e T T e v e &7

% el g g
Cl elr o) aTTGT 3T (Maroon)
78. Why the cylinder keys are not removed from the cylinder while welding?
A To prevent gas leak B To adjust the gas supply
C To open and close frequently M To close quickly in case of fire
WWWW?W@TWW@WW?
s IuREEdEEET @ s i e & AT

7 eRER@eIRdEFASEar o 3T I TR e 96 e o eIl
79. What is the name of the pipe fitting?

A Coupling 4 Eccentric reducer

C Long nipple D Concentric reducer
= T 6T it T ATH B2

& e T  FRegm

T e e T el RegER

80. What is the name of the pipe fitting?

\/ 45° elbow o B

Tee joint pipe

C Short radius elbow D Long radius elbow
5 IIeq TR R ATH 52
& 45° Tl

g dsageusy

qT agrﬁmuw’r T a9 Prsar Tt
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81. What is the name of the lathe specification of marked as x?

A Length of the bed B Centre height of lathe
Length between centre D Length between centre

X% TG H RIEAT TRIE (lathe) RRYSear Fr e A7 &2

F  SsHdaE T T (lathe) F g Fars

T Sgrdded g Sgwdees

82. What is the purpose of back gear unit in lathe machine?

,._/A/’ Reduce the spindle speed B Increase the spindle speed
c Quick change spindle speed D Quick change spindle speed
T (lathe) FRMTT & S TR gfae wrararseea e
&  ToIsa afa FA ST ¥  TdsaafaseEr
T Fedser aifa # cafia IRad= q fedse aifa & cafka aRader

83. What is the name of the part marked ‘x’?

A Body B Back plate
C External jaw B Crown wheel

'+ 3 T 3 3iTehel $TT9T 8T T 411 €7

|

L EE g e
AT ST ST (External jaw) 13§ FT3T el
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84. What is the name of the operation carried out in turning to remove burr and sharpness from

the edge of component?

A Grooving r-—B/ Chamfering

c Step turning D Plain turning
m%mﬁwm(burr) 3R @19 (sharpness) &= & folT fehT 710
JHTORRIT T T ATH 62

F fq\ﬁ':r g TFHRIT

T woelr g T

85. What is the name of the part marked X’?

| A Bed B Tail stock

; c Feed shaft \_/D/ Lead screw
X' & T H T 19T HT AT ATH g2
& CE g

A T
a IS ATFe IR
86. What is the pipe fitting? '

A Reducer B Nipple
en Cap D Plug

g it Ar ursy i g?

s Regw B - -

T T oo
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87. Which energy is converted in hydraulic pump?

A Thermal energy to hydraulic energy
B Electrical energy to hydraulic energy
C Pneumatic energy to hydraulic energy

LB  Mechanical energy to hydraulic energy
gIsgifore U9 3 Sier & Foit waiaia g &2

& AT FST ¥ gI8giToreh Far
T faegasSragssiiae Fei
T TR AT I g8 o Fail
q i Feit A grsgifere Far

88. What is the property of lubricant that can withstand high pressure or load?

A Oiliness \_B—" Viscosity

c Fire point D Flashpoint

FSTIhe T el T IOT e GaTd IT $R Tl e Thell 67
% JolIIdT (Oiliness) g fRrafRaTge (Viscosity)
I BRR TTSE (Fire point) 13§ FolIeaTsSe (Flashpoint)

89. What is the name of lubrication system?

I

AN

Eavsawrnonsans

Yo

e
', Yo Bipy
3 a8
NN

A

&

. .
Bemqns

R4

A Wick feed B Ring oiling

C Gravity feed b ) I Splash lubricating
TSR FOTTell T F AT ATA 2

F fawds g et

a ARAds T o

90. What is the purpose of using lubricant?

_ A~ Prevent wear

B Increases friction
C " Increases the loading capacity
D Increases the speed of moving elements
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qﬁﬂ:ﬁﬂé:mvrzﬁrwmﬁ?
F  wE A

g ONUTEE

Ell &I (loading) &THT ST¢lell

q Ffaeiver acal & 3T Serer

91. What is the colour of soluble oil mixed with water?

White B Blue
c Yellow D Violet
el ¥ ererRiTer et ey TR ST {31 S 8T &2
& @b g e
| o der RO
E 92. Which flux used for soldering steel?
’ A Paste B Zinc chloride
' C Resin M Ammonium chloride
TS 9T Tieh o130 (soldering steel) %ﬁvmwwm%mm%?
F 0 B CE AL IREE]
T e q HATH FARESS

93. Name the part marked as x in a rivet?

A
I
;: 4|
f I
]
A Tail B Body
C Head D Diameter
R # x & T H 37T 19T T A FdT0?
F A g 9er
a g3 q I (Diameter)
94, Which riveting tool is used to form the final shape of rivet?
A Drift B Dolly
C Rivet set ) Rivet snap
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Rae 1 3o sngfer aemer 3 fore fare Rafear geor @ 3aier fmar Sirar &2

& 3w @ e
El} Raede g e &g

95. What is the name of bearing?

A Split bearing &8 Solid bearing
C Thrust bearing D Journal bearing
faReTFrFaram g?
&  cae fagier g  gifasfaaRer
T g fagier g Setel faaRer
96. What is the unit of feed in drilling operation?
A m/ rev B mm/ rev
C m/ min D mm/ min
FSToIaT TR & IS T SIS FAT 8 ?
o m/ rev EC) mm/ rev
T m/ min q mm/ min
. 97. Which type of taper is provided in the drill shank?

A Pin taper B Metric taper

Ue Morse taper D Jarno taper
f2er A (drill shank) 7 ford GRE T TR YaT T ST 82
& fOaewR T AftFTw
7T AR q el TR

98. Whichiis used to remove drills and sockets from the machine spindle?

A Sleeve LB~ Drift
C Punch D Hammer
e Fedzer & et 31K Aidhe ger & foTT fraeT 3ugier frar srar &

®  Fed g f3we
ol q g
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99. What is the unit of cutting speed in drilling operation?

A m/ rev B mm/ rev
&~ m/min D mm/ min
%ﬁ'ﬁ imiamﬁméaﬁmf?r (cutting speed) aﬁrs'aﬂéa:m%?
) m/ rev EC) mm/ rev
q m/ min g mm/ min
100. What is the function of AC welding transformer?

A It converts to low voltage high current ampere

B It converts to high voltage and low current ampere
Cc It converts to low voltage and low current ampere
D It converts to high voltage and high current ampere
AC ATSST TR T FAT FI 82
| F  Ug FH el 309 S IR A uRafda glar g
@ ¥ Scadieds 3R FH e iR F aRafda gare
T OE et 3R FH e IR # aRafda giarg
T Og 3T diees 3R St e R H uRafda gl g

Trade: Refrigeration and Air Conditioning Wit 31X TR HENRIfaAT

76. What is the part marked as X in refrigerator wiring?

r
]
t

Lo oo o o e s o s o o o v o o ]

5
i
%‘] i
‘ l e o o ot e
A Relay B Thermostat
c Compressor motor D Over load protector
IR araRer 7 x & w9 & R smraarg?
& Ra ¥ gARe
T FIWAR

q IR IS WeaTex
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78.

79.

80.

81.

Which refrigerant blend is highly flammable?

A HCFC - Hydro chloro fluoro carbon B HFC - Hydro fluoro carbon
C CFC - Chloro fluoro carbon D HC - Hydro carbon

et AT IS AT cafe saereeier &7

F HCFC - BTSSY FlRY FolRY ShreleT £C) HFC - BTS3T FiRY ShTeleT
T CFC - FoR! TR SHlered 3§ HC - gT33Y FIee

Which type of motor drive is used in hermetic compressor in refrigerator?

A Belt drive B Gear drive

C  Directdrive D Push drive

ITFoER A gafes TR A fohd aRg A Aex 3159 &1 3TN FAT AT 2

F Sec 33T g [EREECIES]

T SRRET 38T 13} ENUCEE]

Which material is used to make the evaporator of refrigerator?

A Galvanised iron B Stainless steel

(o Aluminium D Brass

IMFSNEX & SAUREI & §oTet & T T fohey TRy &7 39091 v Srar &2
& ST (AeaAses) AeT g Aol Tl

Ell TegfAfTH q qrder

Which refrigerant is used in domestic refrigerator?
A R 22 B R 32
C R134a D R407 ¢

e Ao # faner Wharie &1 39T fShar Sirar g2

Ca R22 k) R 32

T R134a 13 R407c
What is the unit of electric current?

A Ampere B Farad

C Ohm D Volt

g Fc N 5HTS FAT 8?2

F TFITIT (Ampere) g %13 (Farad)
a 3 (319) q e (Volt)
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82. What is the load resistance in an electrical circuit,
if current, | = 2 amp and supply, V = 10 volt?
A 2 ohms B 3 ohms
C 4 ohms D 5 ohms
IRy He, | = 2 TARR 3R L, v = 10 e g
faega TRuu A s wieriar T &?
& 23 g 3HA
T 43H g 53H
83. Which winding has more inductance in refrigerator compressor motor?
A Run B Start
C Common D Start and common
Ihee FUTR Alex 7 forg arsfEer &1 s s garg?
& o g we
T HIAF T TTIC 3R AT
84. What is the method of converting AC to DC power supply with two diodes and a step-down
transformer?
A Bridge rectifier B Half wave rectifier
C Full wave rectifier D Quarter wave rectifier
eI 3TE1S AR TU-313+1 GBI & | THT forstell 3Mqfct 1 i & seoll Fr AR Far e
&  fSeiEeer T g% dad IFCHRR
T Pl da FFEHRR ¥ FEl 99 WEFTHERR
85.

What is the name of component used in refrigerator?

A Strainer B Capillary tube

C Condenser coil D Accumulator tank
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XFSRER H St Tea @ T
® OERW g SRl
T HSTE G ¥ TR &R
86.  Which method is used to check the leakage of hydro fluoro carbon refrigerants?
A Electric torch B Litmus paper
C Sulphur candles D Electronic leak detector
BTSS! FeRY sheiet Ihorte & Reara oY et & o R RfRr a7 3oriter R srar &2
&  gafFewad ¥ foeAadw
T HoW FHsed g goglied g fSede
87. Which gas is used for pressurising and testing leakage of RAC system?
A 0; B N2
C 0; D SO,
IRTHT JoTTelt H gara sTefet 3R Reara & wdYetor & fore g 3 &1 392ier frar srar 2
o 0. q N2
a (o} T SO;
88. Which type of compressor is used for domestic refrigerator?
A Semi sealed compressor B Centrifugal compressor
C " Hermetic compressor D Open type compressor
ER Ihae & foiw fora ave & FH0TR &7 3u2her frar siar &7
& 3 Hieeg FRR T &g 9IRS (Centrifugal) HIET
T gHfeH FIET q masqm
89. Which type of condenser is used in window Air conditioner?
A Plate and tube B Fins and tube
C Plate and coil D Bare tube
TS TR 3R # e YR & HSATR T 3TN a7 SArar &2
& iR g ik
T coie 3R Frae g S TgE
90. Which type of expansion device is used in frost free refrigerator?
A Float valve B Capillary tube
C Automatic expansion valve D Thermostatic expansion valve
ThiEe Farc IBPoReX 7 el TR & FaFdR SUhToT &7 39T fofar ST &7
&  Felcded g FRedogy

T FuTferd [A&dR ared 13§ yHfefes Rear area
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91. What is the part marked as X in window air conditioner?

A Muffler B Condenser

C Evaporator D Discharge line

SR FERER AX F A REag TR

& ABR g &
T WA S I
92. Which type of insulation material is used in modern refrigerators?
A Saw dust B Glass wool
C Expanded Poly Styrene D Poly Urethane Foam

mmﬁmmﬁﬂmmmwmmmm

& ATSEE (Saw dust) e) JelTE gl
T TR i e T g w
93. Why frost accumulates in window AC evaporator?
A Over charge of refrigerant B Less charge of refrigerant
C Capillary chocking D Air filter blocked
ST T SaUREX I UTalT 41 513 ST &2
& Ihstie 1 318 arer g e HTHa et
A iR IaeeY gler ¥ TR e g e

94. What is the function of remote control in split AC?

A Humidity setting B Pressure setting

C Drain water control D Transmits signal to operate AC
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ool i & RAle Fea srrar i 2

F  Eardfd ¥  gagafdr

T I e AT g ACHI & fav Reda grafAc aare
95. Which tool is used to straighten the deformed fins of air-cooled condenser?

A Blower B Fin comb

C Wire brush D Brass brush

TI-Fe8 HIFT & faehel T HI et 3 AT e 39T 31 39GNT fohal STl &7

F SRR Ec B o e

T AR 72T 3} EIGER]

96. What is the part marked as X in flaring set?

A Flaring block B Flaring yoke
C Wing nut D Chamfer
FRIRFT AT A X &0 & A e Far g
F YAl salle (Flaring block) @ UY&Hdr A (Flaring yoke)
£l Farae (Wing nut) 3 TFBY (Chamfer)
97. Which refrigeration system works on directly by the heat energy?
A Jet refrigeration B Mechanical refrigeration
C Vapour absorption refrigeration D Vapour compression refrigeration
pleT T reficteT (RThaTRereT) JoTTell TN ST F garT & i 7
&  Sewidd T Ao geiaeT
T greg aRyor gt g e HsT g

TECH-Il  Page 43 of 44



SET-C

98.  What s the absolute zero temperature in degree centigrade?

A 0°C B 100°C
c -273°C D 212°C
el WIS 3 oRe T AT kel et ©7
& 0°C g 100°C
T -273°C . q 212°C
99.  Whatis the purpose of accumulator in a refrigerator?
A Improves oil circulation ) B Prevents surging of refrigerant
C Avoids hunting of refrigerant D Stops liquid flood back to compressor
l YBroIeX & TS (accumulator) &1 38T FITE?
F A IREROTH GUR AT & @ e R T AAFATE
T Mhec eI Sads T ool Ierd & U H O A
FIASATE
'3 _ 100. Which refrigerant is inactive to ozone layer?
r‘ . - A R12 B R13
| 1 cC R2 D  Ri34a
L4
% . % R12 o R 13
! T R22 13§ R 134a
ii % 3k % 3% %k %k %k
|
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